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Note : This paper of Eighty (80) marks containing 
three (03) sections A, B and C. Learners are required 
to attempt the questions contained in these section 
According to the detailed  instructions given therein.

uksV% ;g iz'u&i=k vLlh (80) vadksa dk gSA tks rhu [k.Mksa 
d] [k rFkk x esa foHkkftr gSA f'k{kkfFkZ;ksa dks bu [k.Mksa esa fn, 
x, foLr`r funsZ'kksa ds vuqlkj gh iz'uksa ds mÙkj nsus gSaA

Section-A/[k.M&^d*

(Long Answer Type Questions/nh?kZ mÙkjh; iz'u)

Note: Attempt any  two questions. Each question 

carries 19 mark.	 2×19=38

uksV%	fdUgha nks iz'ukssa ds mÙkj nhft,A izR;sd iz'u 19 vadksa 

dk gSA
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1.	 Define Management accounting and discuss its 

objects. Why is it called 'an essential tools for 

management'?

	 izcU/dh; ys[kkfof/ dh ifjHkk"kk nhft, rFkk blds 

mís';ksa dk o.kZu dhft,A bls ^izcU/ ds fy, vko';d 

midj.k* D;ksas dgk x;k gS\

2.	 Define 'Capital Budgeting'. Discuss the various 

methods of evaluating Capital projects pointing 

out their suitability and limitations.

	 ^i¡wth ct¯Vx* dks ifjHkkf"kr dhft,A i¡wth ifj;kstukvksa 

ds ewY;kadu dh fofHkUu i¼fr;ksa dk o.kZu dhft,] lkFk 

gh muds vkSfpR; o lhekvksa ij Hkh izdk'k Mkfy,A

3.	 A company issued 1000, 6% Debentures of  

Rs. 100 each at 5% premium, These debentures 

are to be redeemed after 10 year at 5% premium. 

The cost of issue is 3% calculates the cost of 

debenture when Tax rate is 50%.

	 ,d dEiuh ds 5% izhfe;e ij 100 #i;s okys] 1000] 

6% ½.ki=k fuxZfer fd,A ls ½.ki=k 10 o"kZ ckn 
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5% izhfe;e ij 'kks/uh; gSaA fuxZeu dh ykxr 3% gSA 

½.ki=kksa dh ykxr dh x.kuk dhft, tc dj dh nj 

50% gSA

4.	 From the following data you are required to 

prepare  fund flow statement:

	 fuEu vkdM+ksa ls dks"k izokg fooj.k cukb,%

Balance Sheet

Liabilities 	 2015 	 2016  	 Assets 	 2015 	 2016

Share Capital	 24,000	 36,000	 Building	 16,620	 33,960

Premium	 2,400	 3,600	 Machinery	 10,680	 15,390

General Reserve	 1,800	 2,700	 Furniture	 720 	 450

P & L A/c	 5,850	 6,240	 Stock	 6,630	 7,800

Debenture	 –	 7,800	 Debtors	 10,950	 11,730

Provision for Tax	 2,940	 3,270	 Cash at Bank	 1,440	 1,200

Creditors	 10,050	 10,920	

		  47,040	 70,530		  47,040	 70,530
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fpV~Bk

ns;rk,¡		 2015 	 2016  	 lEifÙk	 2015 	 2016

va'kiw¡th	 24,000	 36,000	 Hkou	 16,620	 33,960

izhfe;e	 2,400	 3,600	 e'khujh	 10,680	 15,390

lkekU; lap;	 1,800	 2,700	 iQuhZpj	 720 	 450

ykHk&gkfu [kkrk	 5,850	 6,240	 jgfr;k	 6,630	 7,800

½.ki=k	 –	 7,800	 nsunkj	 10,950	 11,730

dj izko/ku	 2,940	 3,270	 cSad esa jde	 1,440	 1,200

ysunkj		 10,050	 10,920	

		  47,040	 70,530		  47,040	 70,530

	 Additional information : Depreciation written of 

on machinery Rs. 3,840 and on furniture Rs. 120 

during the year 2016.

	 vfrfjÙkQ lwpuk&o"kZ 2016 esa e'khujh ij 3]840 #i;s 

rFkk iQuhZpj ij 120 #i;s ßkl yxk;k x;kA
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Section-B/[k.M&[k
(Short Answer Type Questions/ y?kq mÙkjh; iz'u)

Note: Attempt any four questions each question 
carries eight mark.	 4×8=32

	 fdUgha pkj iz'uksa ds mÙkj nhft,A izR;sd iz'u 8 vadksa  
dk gSA

1.	 What do you understand by Financial Analysis?

	 foÙkh; fo'ys"k.k ls vki D;k le>rs gSa\
2.	 How the shareholders fund is calculated?

	 ^va'k/kfj;ksa dk dks"k* dh x.kuk fdl izdkj dh tkrh 
gS\

3.	 What is ratio analysis? Discuss its limitation.

	 vuqikr fo'ys"k.k D;k gS\ bldh lhekvksa dk o.kZu 
dhft,A

4.	 The current liability of H. Ltd are Rs. 2,00,000 
and liquid ratio is 3 : 1. Stock is Rs. 50,000. Find 
out current assets and current ratio.

	 ,p- fy- ds pkyw nkf;Ro 2]00]000 #i;s gSa rFkk rjyrk 
vuqikr 3 : 1 gSA jgfr;k 50]000 #i;s gSA pkyw lEifÙk 
rFkk pkyw vuqikr Kkr dhft,A

5.	 N Ltd. has issued 9%, 4000 preference share 
of Rs. 100 each and has incurred the following 
expenses : 
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	 Brokerage 3% other expenses Rs. 3000. Calculate 

cost of capital (before tax), assuming preference 
share is issued at 9% premium. Tax rate 40%.

	 ,u- fy- us 100 #i;s okys 4000] 9% iwokZf/dkj va'k 
fuxZfer fd, rFkk fue O;; fd, % 

	 nykyh 3%] vU; O;; 3000 #i;sA ;g ekurs gq, 
iwokZf/dkj va'kksa dk fuxZeu 9% izhfe;e ij fd;k rFkk 
dj dh nj 40% gS iw¡th dh ykxr (dj ls iwoZ) Kkr 
dhft,A

6.	 State the importance of reports for management. 

	 izcU/ ds fy, izfrosnu (fjiksVZ) dk egÙo crkb,A
7.	 Explain  the concept and features of Responsibility 

Accounting.

	 mÙkjnkf;Ro ys[kkadu dh vo/kj.kk o fo'ks"krkvksa dh 
O;k[;k dhft,A

8.	 What sources of Working capital are available to 
corporate in India?

	 Hkkjr esa dEiuh {ks=k dks dk;Z'khy iw¡th dh O;oLFkk ds 
fy, dkSu ls lzksr miyC/ gSaA

Section-C/[k.M&x
(Objective Type Questions/oLrqfu"B iz'u)

Note: Attempt all questions. Each question carries  
  One mark.	 1×10=10

uksV% lHkh iz'u gy djus gSaA izR;sd iz'u ,d vad dk gSA
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A.	 State True or False :

	 lR; vFkok vlR; crkb, %

	 (1)	 Management Accountant is the custodian 
	 of the assets of the company	
	 izcU/ ys[kkiky dEiuh dh lEifÙk;ksa dk  
	 vfHkjld gSA

	 (2)	 Only cost data are analysed in Management 
	 Accounting.

		  izcU/dh; ys[kkfof/ esa dsoy ykxr leadksa dk  
	 gh fo'ys"k.k fd;k tkrk gSA

	 (3)	 Purchase of goods on credit will increase 
	 current ratio.

		  eky dk m/kj Ø; pkyw vuqikr esa o`f¼ djsxkA

	 (4)	 Trading on equity and financial leverage 
	 are same concept.

		  lerk ij O;kikj ,oa foÙkh; fyojst mÙkksyd 
	 leku /kj.kk,¡ gSaA

	 (5)	 Cost of debenture is the rate of interest  
	 that is to be paid by company to debenture- 
	 holders.

		  ½.ki=k/kfj;ksa dks dEiuh }kjk ns; C;kt dh  
	 nj gh ½.ki=kksa dh ykxr gSA
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B.	 Fill in the blank :

	 fjDr LFkkuksa dks Hkfj, %
	 (6)	 Pay-back  period method is the simplest  

	 ................. technique.

		  iquHkqZxrku vof/ fof/ lokZf/d ljy--------- 
	 rduhd gSA

	 (7)	 Account receivable is the total of trade 
	 debtors and.....................

		  izkIr [kkrs O;kikfjd nsunkjksa ,oa --------------- dk  
	 ;ksx gksrk gSA

	 (8)	 Management Accounting help in .......... 
	 of data.

		  izcU/dh; ys[kkfof/ lead ds -------- esa lgk;rk 
	 djrh gSA

	 (9)	 Income statement..........the revenues and 
	  the cost relevant to them.	

	 	 vk; fooj.k vkxeksa rFkk muls lEc¼ ykxrksa dk 

	 -------------------- djrk gSA

	 (10)	 Control reports help in............different  

	 activities of the organization.

		  fu;U=k.k izfrosnu laLFkk dh fofHkUu xfrfof/;kas  

	 dks---------------djus esa lgk;rk djrs gSA

****


